

## Contents

(1) Formal power series

(2) Generaling functions

(3) Walk generating functions

Formal power series

term is redundant We could define a formal power series over a ring R to be a function for NV to R. More traditionally, it is given as a sum and be a bield, or the ring of matrices over a field Soan th

Where are R; the terms in the sum are elements of the polynomial ring R[6].

Any polynomial in 12(6) is a power series, and the addition and multiplication rules are the rates we use for polynomials. By

[64, A(b)]

we dende the coefficient of the in the server A(t).

A(b) = E'a, B(0- 26, tk,



then [ ( \* A(1) + B(1)] = [6", A(1)] + [4", B(1)] = an + bn

= 21 aibh-i

and  $[b^h, A(\omega)B(\omega)] = \sum_{i=1}^{h} [t^i, A(\omega)][t^{h-i}, B(\omega)]$ 



We define the order ord (f) of a power serves to be the least integer i such that [ti, 1) # 0. The norm ||f|| of f is 2-ord(f) large powers This is a norm in the usual sense. We have

(a) | f| | >0, & if | | f| |= 0 then f = 0. (b) if a ER so, then II O'll=) and II af II = II F II (c)  $||f+g|| \leq \min_{n \in \mathbb{N}} ||g||_{S} \leq ||f+g||$ Non-Archimedian

As orA(fg) = ord(f) + ord(g), We have  $||fg|| \leq ||f|| ||g|| \quad \text{note: } R \text{ might have}$   $||fg|| \leq ||f|| ||g|| \quad \text{otherwises of } sere$   $||fg|| \leq ||f|| ||g|| \quad \text{otherwises of } sere$   $||fg|| \leq ||f|| ||g|| \quad \text{otherwises of } sere$ 

Let V be a metric space. A sequence (v.), is Cauchy if for each real E>0, there is an integer N such that Ivm-vnI = if m,n > N. Two Cauchy sequences are equivalent if their difference converges to Q The equivalence classes of Cauchy sequences form the completion of V with respect to the metric.

Theorem The ring of formal power series R[[t]]

is the completion of the ring of polynomials R[t].

#### Completions

Leb R be a ring. Then (a) RN is a ring

(b) Given a metric on RN, the Cauchy sequences

form a subring of RN: calling b(R)

(c) The Cauchy sequences that anverge to zero form on idealtin B(R). The quotient B(R)/E is the ampletion. Theorem Let  $(f_r)_{r>o}$  be a sequence of power soies. 16 11/11 → 0 ors r > 00, then Etr is defined. U Lemma Let f be a power series with constant term O. Then senses it fifty is defined

and is the multiplicative inverse of 1-f. Is

So a power stries is invertible if a emb if its

constant torn is invertible.

Generathy Functions

Let I be a set (e.g. of strings formed from a 26) and leb wt: D = IN be a function from A to N s.t. for all non-negative integers i,  $| \{ \alpha \in \Omega : wt(\alpha) = i \} | < \infty.$ We call ut a weight function. Then the sum

 $\underbrace{\mathcal{S}}_{t} \text{ wh(a)}$ 

is the generating function for (2, wi),

### Rules

- (a) sum
- (b) product
- (1) segnences

Sum! Suppose 2,00, = 0, and the weight bundon are wt, who respectively. Debrie wt on Siusiby  $wt(\alpha) = \{wt, (\alpha), \alpha \in \mathcal{N}_{1}; wt_{1}(\alpha), \alpha \in \mathcal{N}_{1};$ 

If the generating functions for  $\Omega$ , &  $\Omega_2$  are respectively A, R  $A_2$ , the generating function for  $(\Omega, \omega)$  is  $A_1 + A_2$ .

# Products: We define a weight function on $R_1 \times R_2$ by $wt(\alpha_1, \alpha_2) = wt_1(\alpha_1) + wt_2(\alpha_2)$

Il A, & A, are the generating functions for

P. a Siz, the generating function for (1, > 1, nt) is

A, A<sub>2</sub>,

### Sequences.

Assume no element of D has weight zero. The set

UD!

has generating function -A. We may

denote this by W.\*

### Examples

(a) Assume 
$$\Omega = \{a, b\}$$
 &  $wt(a) = wt(b) = 1$ . The generating function for  $\Omega$  is  $2t$ . The generating function

$$for N^* = \frac{1}{1-2t} = 2kt^k$$

(b) Assume 
$$S2 = 59,63 & wt(a) = 1, wt(b) = 2$$
.

Then the generating function for 
$$\Omega$$
 is  $t+t^2$  and the generating function for  $\Omega^* = \frac{1}{1-t-t^2} = A(t)$ 

Note that 
$$\{t^k, A(t)\}$$
 is the number of ways we

(an write  $k$  as a sum of a segmence of is  $22^i$ .

If  $A(t) = \sum_{r \ge 0} a_r t^r$  then  $I = (I - t - t^2) A(t)$ . We have

$$[t^k, (I - t - t^2) A(t)] = a_k - a_{k-1} - a_{k-1} \quad (432)$$

Cnd
$$[t^k, I] = \begin{cases} I, & k = 0 \\ 0, & k > 0 \end{cases}, \quad \exists \ \theta_k = g_{k-1} + g_{k-2} \quad have$$

Fibonacci number.

(c) Suppose 
$$9_{k+1} = a_k + a_{k-1}$$
 (kz). Then

 $\begin{pmatrix} a_{k+1} \end{pmatrix} = \begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} a_{k} \\ a_{k-1} \end{pmatrix}$ 

 $\binom{a_{k+1}}{a_k} = A^{\ell} \binom{a_i}{a_0} \qquad k > 0$ 

and hence

$$\sum_{k \geq 0} t^{k} \binom{a_{k+1}}{a_{k}} = \sum_{k \geq 0} t^{k} F^{k} \binom{a_{1}}{a_{0}} = (I-tF)^{-1} \binom{a_{1}}{a_{0}}$$
and
$$\sum_{k \geq 0} t^{k} a_{k} = e_{k}^{T} \left( (I-tF)^{T} \binom{a_{1}}{a_{0}} \right)$$

$$k \geq 0$$

$$\left( I-t \binom{a_{1}}{a_{0}} \right)^{-1} = \left( (I-tF)^{T} \binom{a_{1}}{a_{0}} \right)^{-1} = \frac{1}{I-t-F} \binom{a_{1}}{a_{1}} = \frac{1}{I-t-F} \binom{$$

Walk generating functions

The ij-entry of Ak is the number of walks from i to j in X with length k. It we fix i aj, the generating bunction for the squence ((At);) has is ((I-tA));. So we define  $W(X,t) = (I-tA)^{-1}$ 

and call it the walk generating function of X

The matrix (tI-A) is the resolvent of A and plays a key role in spectral theory. If the eigenvalues of A are o,,, o, with curresponding spectral idempotents Eins Ed, the spectral decomposition of (FEA)" v

$$(H-A)^{-1} = \sum_{r=1}^{d} \frac{1}{t-\theta_r} E_r$$

$$(H-A)^{-1} = \sum_{r=1}^{d} \frac{(E_r)_{i,j}}{t-\theta_r}$$

A walk is dosed if its first a last vertices are equal. The generating bunchon for closed walks in X starting at u is W(X,t) yu; we denote it by Cu(XH) and use C(X,6) to denote E Cu(X,1), the generating function for all closed walks in X. Finally C"(X,t) is the generating function for closed walks on a thot return just once.

Lemms 
$$C_n(X,t) = 1 - C_n(X,t)$$

Proof A closed walk starting at u is a sequence of

closed walks that start at u and return exactly once.

Remarks: (a) If u has valency k then Cu(X,t) = kt2+...

(b) 
$$C_{u}^{(l)}(X,t) = 1 - \frac{1}{C_{u}(X,t)}$$

We have 
$$C_u(X,b) = (I-bA)^{-1}_{u,n}$$
 and so  $b^{-1}C_u(X,t^{-1}) = ((HI-A)^{-1})_{u,u}$ 

By Cramer's rule
$$(tI-A)^{7/2}_{NN} = \frac{del(bI-A(x-w))}{del(4x-A(x))} = \frac{\varphi(x-u,6)}{\varphi(x,b)}$$

Leama 
$$t''(x,t'') = \frac{\varphi(x,t)}{\varphi(x,t)}$$

multiplicities 
$$m_{i,-s}m_{d}$$
, then
$$tr(A^{k}) = \sum_{r=1}^{d} m_{r}o_{r}^{k}$$
and hence

$$tr(A^k) = \mathcal{E}^{d_r} m_r o_r^k$$

br (I-6A)" - 2" Cu(X,t) = 2" F" @(X\u,f")
46V(X)

But LHS is

and hence

Now if 
$$p(t)$$
 is a polynomial with zeros  $\overline{\partial}_{i}$ , ...,  $\overline{\partial}_{d}$ 

and respective multiplicities  $m_{i}$ , ...,  $m_{d}$  then
$$\frac{p'(F)}{p(F)} = \sum_{r} \frac{m_{r}}{F-\partial_{r}} \qquad (expresse)$$

$$\overline{p(t)} = \sum_{r=0}^{\infty} \overline{f_{r-0r}} \qquad (express$$

 $\int_{1-t\theta_{r}}^{\infty} = t^{-1} \int_{1-t\theta_{r}}^{\infty} = t^{-1} \int_{1-t\theta_{r}}^{\infty} (X, t^{-1})$ 

and therefore  $\mathcal{Z}' \mathcal{O}(x, \eta, t) = \mathcal{O}'(x, t)$ .

$$\sum_{i=f\theta_{r}}^{m_{r}} = t^{-i} \sum_{i=g}^{m_{r}} = t^{-i} \underbrace{\beta'(X, t^{-i})}_{g(X, t^{-i})}$$